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Neutral current and CC (tau leptonic dey):

Hadrons initiated by W or Z0 have a same energy.



Baricenter distribution at different Z-levels
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Baricenter distribution at different Z-levels

NC: Center of Gravity: sqgrt(cog_x"2 + cog_y”2) at different Z-level
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Sum hadron energy vs baricenter
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Ratio: between Sum hadron energy to baricenter for different z level
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Ratio: between Sum hadron energy to baricenter for different z level
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neutrino primary energy vs baricenter



Correlation plots between neutrino energy vs baricenter for different z level
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NC: Energy v, vs sqrt(cogX”2 + cogY”2) for z level = 25
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Ratio: between neutrino energy to baricenter for different z level
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Ratio: between neutrino energy to baricenter for different z level

first 6 layers different scale
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Correlation plots between neutrino energy vs baricenter for different z level

first 6 layers different scale
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Correlation plots between neutrino energy vs baricenter for different z level

first 6 layers different scale
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correlation cogXY to edep

aHanorn4yHo ass anaurca
onvnHa 6onbwon ocn 1d Hist Ha pa3HbIX YPOBHSX

OnHa 6onbLlLoON ocn Koppenauns oT 92 n 16 nepBnyHoe



